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44 0.6947 0,7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
® 1.022 @6.947 ® 7.071

@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947




3 2
Y22 =2
x2—¢?

® a2
a’ +b? =x% +y?

OR]S S1

ol ?2'-1—1—_5”;]'2—/2 gl w=t
c2=x?-a?°l1l

R
2=y?-p?o|BER

X2 —a?—y2—p? ot}




e e A

=i

il

ofy o

7+ ABCD
D LEE 2 Aot} ot

o &
flo 34

oo

(@) DEF = /DFE

® /A’EF =90°

wtetA] /DEF = /DFE ©]tt.

oflt




9.

the 2EA x o] 327 A

V5 3V5 3V15
@ 5415 ® 7415




10. o2 293} Zo] ¥tx]59] Zol7F 13em )
FESH O A 5em THE HojX HHo g
e o A7 = EH e Yol & Fsto]et

> HE . 144ncm?

whe) glo]
AOPH 7} A Zp4f 24 go| B2

r?+5%2 =132, r? = 144

r>00°22 r=12 (cm)

(Y Hol) = x 122 = 144x (cm2)

_,,
>,

N, o
1o
i
o
i

-
o,
S}
ol
ol
e
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